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14.4 Surface Area

How do we find the surface area of a solid figure?

kade&L
SA=2(I1v<)

+2(-4) +2(6 9)

8cm

/ $idrd
RUS
6 cm =2 (% +l((¢°)
10 cm SP\ ( ?\—2("({)
2(129)= 2(200-|2) =2(I35)=336
What is a net? = ‘lw"zq

back |




14.4 October 31, 2013

Let A = area of base
P = perimeter of base
h = height of solid

Right Prism
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Let s = slant height

Right Pyramid
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Right Circular Cylinder
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Sphere

N

The Greek mathematician
Archimedes discovered that the

L\___ilql_rface area of a sphere is the same
as the lateral surface area of a
cylinder having the same radius as
the sphere and a height the length of
the diameter of the sphere.

Ladexa SK

Another way to look at it is the rafio of  of c%i«&u
surface area of the sphere to the entire = (74r) |y

surface area of the smallest cylinder TR
containing the sphere is 2/3. ! ‘—‘2le(7”) L(“T
SA of cgeb«&,_,s Uny 210 =SA of sphane
=it
SA SFM _ ia M
A~ 3 brv™

A SR of sphow = %(GW‘F



14.4

WA PR <"

owds Ao, SA
ZMmm=02cm E 3em 3n
-]VD \Aw q"hr m
= 2r (2.2)
o 2
ie‘;’ ' Sp= 3 (U4T) cm
770 _nsice =3
¢ BA"HVMM
Zn@=qp Sh= 1(2) ~1 (%)
SA =3(Im)< Ry o = Y3 -Yr
= DSYT om
dotaf
= Sp= Z(Dsqn) +AB2T 420 (om" )
(6% 4+ B2+ 1)
REEYT Y ) = 208%1 mm©
WaA¥T) ‘ hefn 1 e b
A= areq Sp=A+=2Ps
of \oak A —I
o o P b (1)= ¥2 w
‘:w:;{ = B (oY < 3((%)—21«.1‘
€< slant kit (Tv-'z AT
R = 14436 = Jog
b=JTox =112
wn SLWM/ -—,l 43 = 3'2)\‘_
b= X3 =l
Wheng X=Sidy_fn , .
ot vey. Ma;@« q &ﬁ) =g
A7k \s ot T
b= ﬁ lsq:s
S: ! I%’q

S SA= 2663 +3 (GBI
=16= + mzﬁ‘\) >

s{121 3%

October 31, 2013



14.4 October 31, 2013

\\%K'L\D
V /,l;'§ Sh= s Ltwsykme

’ %(—yﬂ-—k + ladwad SA
S of ajlzw}.w

Cone-
" gA: ﬂfl*“ﬂ'r\ﬁ':ﬁ'—
A"" ID':- base $5\M;i
P=4(0o)= .
-own
SA=A+ SA- 251 + 31\\5254{00
\0" < =297 +SMJ 7)Y
:251 + 2SmVs
SN 2
2 =25 I"'\r: w
S22 R $=5(5 éﬁ m ( ’) ﬁ]

0@(“-

= SA= |00 = (1) 5¥S < oo+ -
T IW(H\E)V\




14.4 October 31, 2013

GO, spez M,

(-33 of skt stard <wqm§renu)



14.4 October 31, 2013

\\\\\}\
> SA ladwral = 20vh =70 (‘IX?I"I-')
3 2J2_£ ‘;’\1

L\L\ W SA = 7
| %3 \ow JACNEVE oD,
\ow 0=2nr¢
_le _ S
Tr T T
= L\
e 002 ) oo 7).
\‘w T oo /o
-7 Li¥ A}?/ he G+
3
A=-7L_(3§) \ 1 SA 2A '+PL AZ
S ar N o 23
- - 25°+3°4d
d =(25+9=15.2§
4= B §1

=) P=2d+ <2 1527+
SA~2(5)1 (2 +5)6= 542! 430
- q;+ér -(1



14.4

\'\w

90

4y r

kD (=,

-

double lneizﬂ,er:

October 31, 2013

Liderdll suelpee
arta o‘c -7
L0 e
o | SA=2m h
=27 (%°)
= (bN
_;igi= 12 Sk LOn(q)
qorf250 737ST|-.,.
2% om
'

SA= 2\11'142“(\'\
dm‘)\{ Y AJ\'V\S'.

SA = 2n v 142?(%\)1\
7 ?Tfrt"' q'ﬂv—k

SA=an r"-\-'an(?(-\) @"'%rﬂ

10



